COSMOS: Complete Online Solutions Manual Organization System

EE228 Spring 2007
Problem Set #17
Chapter 14, Solution 13.

1+ jo _ (Y10)(1+ jo)
(jo)’10+ jo) ~ (jo)* 1+ jo/10)

G(w) =

Gy =-20+ 20|ogm‘1+ jw‘ - 4OI0910‘ jm‘— 20Iogm‘ 1+ jm/lo‘
¢ =-180°+ tan ‘o — tan ! w/10

The magnitude and phase plots are shown below.
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Chapter 14, Solution 15.

40(L+ jo) 2(1+ jo)

) = 2 jo)10+ jo) ~ A+ jo/2)@A+ jo/10)

Hys = 2010g,, 2+ 2010g,| 1+ jo |- 2010g,,|1+ jo/2 |- 2010g,0|1+ joo/10]|
d=tan" o—tan" w/2—tan™ ®/10

The magnitude and phase plots are shown below.
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Chapter 14, Solution 17.

(1/4) jo

G(w) =

1+ jo)1+ jo/2)*

G s = -2010g,,4+2010g,,| joo| - 2010g,,| 1+ joo |- 4010g,s|1+ joo/2|

¢ =-90°-tan"'w—2tan™ w/2

The magnitude and phase plots are shown below.
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